ΌΝΟΜΑ:
ΟΡΙΖΟΝΤΙΕΣ ΠΡΟΣΘΕΣΕΙΣ
1) Να λύσεις τις προσθέσεις:

20 + 10 + 8 =					 24 + 4 + 2 =
30 + 30 + 1 =					 37 + 3 + 6 =
50 + 20 + 6 =					 42 + 6 + 1 =
70 + 20 + 7 =					 54 + 2 + 3 =
40 + 40 + 9 =					 41 + 9 + 7  =
20 + 70 + 9 =					 63 + 7 + 9 =
40 + 20 + 8 =					 85 + 5 + 5 =  
30 + 60 + 3 =					 76 +  4 + 7 =
50 + 40 + 8 =					 22 + 8 + 3 =                      
10 + 80 + 4 =					 94 + 6 + 2 =              

2) Συμπλήρωσε τους αριθμούς που λείπουν στις    
προσθέσεις:

[bookmark: _GoBack]12 + 5 +     = 20	                               8 + 10 +     = 30
                                 
31 + 5 +     = 40	                               52 + 10 +      = 66	

10 + 6 +     = 20	                               42 + 20 +       = 80

27 + 20 +     = 50	                               68 + 20 +       = 100
